Here are the simple steps:
1. Define the 12 decision variables you will be using:

Example:
Xae = Quantity shipped from Atlanta to Edison
Xaf = Quantity shipped from Atlanta to Fargo
You will need 12 of these variables

2. Define the Objective function based on the given transportation cost per unit:
Example:
Minimize C = 6Xae + 4Xaf + ............

3. Define your constraints:
Example:
Xae + Xaf <= 800

You will need 8 constraints for the following:

Production capacity at Atlanta
Production capacity at Boston
Production capacity at Chicago

Demand at Houston
Demand at Indianapolis
Demand at Jacksonville

Conservation of flow through Edison ( Shipment In = Shipment Out)
Conservation of flow through Fargo ( Shipment In = Shipment Out)

4. Use QM or LINGO10 for the simulation of the problem.
